Eff|0|ency vs dr

m009 ke
oO 08f----%--
0007 SR
Bo.06f§ -
0.05F "7+
0.04f -4+
0.03f-- 4
0.02F 444 |
0.0f -4

Aol

J..

T

Ratio

Bl seed nerplesTdan
B Mﬁ@ q r-phasel-new

14

__HHF___

eTCPEGenerlc step2 ttba pﬂasel -newgeom

RIS

107 1072 107 1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.02_

0.018F
= u

?5.016 -

9.014F

> o
9.012F
2 o
o -
= 0.01:
O o
0.008|

0.006F-
0.004F-
0.002F-
Ve

Ratio

[y
TTTT] T

0.95 . S . SR
107 1072 107
AR(TP, jet)

e w R
2 ] : :
T : :
o R il
| il A
307720 60 80 100 120 140

Pileup



	Contents
	Page 1


